NORTH WEST DEVELOPMENT CORPORATION (SOC) LTD

(Registration Number 1999/002625/07)



REQUEST FOR TENDERS/BID DOCUMENTS/PROPOSALS

North West Development Corporation (NWDC) is the official agency that assists with the planning, financing, coordinating, promoting and carrying out the economic development as well as promoting trade and investment within the province, and its people in the field of industry, commerce, finance, mining and other business, resulting in wealth and job creation.

The Management of the NWDC hereby invites bidders to provide us with the following services:

- 1. Manned Security in all Regions of NWDC 2 (two) year contract
- 2. Renovations and Refurbishment Ga-Rankuwa and Babelegi
- 3. Internal Audit Services 3 (three) year contract
- 4. Debt Management Collection 2 (two) year contract
- 5. SEZ (Special Economic Development Zone) Mahikeng Agro-Processing
- 6. Performance Management Training (Accredited Facilitator)

NB: Fee per tender document - Each tender is obtainable at a fee of R500.00 which is non-refundable.

	Tender Number	Description	Tenders obtainable from	Closing Date and Time	Enquiries
	NWDC\MMA001\2015	Provision of Security Services at NWDC Properties within Ngaka Modiri Molema District and DR Kenneth Municipalities (Mahikeng,Mmabatho, Lehurutshe,Atamelang,	30 James Watt Crescent Industrial Site Mafikeng 2735	10th September 2015 12:00	B Legotlo (018) 381 3663 – Mmabatho F Van Rooi (018) 381 3663 - Mmabatho
	NWDC\BOP001\2015	Itsoseng, Tlokwe) Provision of Security Services at NWDC Properties within Dr Ruth Mompati Municipality (Taung, Christiana, Ganyesa,	Small Industries, Stand 99016 Tosca Vryburg Road Ganyesa, 8613 Taung Small Industries	10th September 2015 12:00	P Keganne (053) 773 1052 - Mothibistad M. Thomas (053) 998 3333 - Ganyesa J Oliphant (053) 994 1709 – (Taung, Mothibistad and Ganyesa)
1	NWDC\BOJ001\2015	Mothibistad, Vryburg) Provision of Security Services	8580 Mothibistad Shopping Complex 8487 34a Marias Street	10th September 2015	T Kesiamang (014) 555 7890 – Rustenburg /
		at NWDC Properties within Bojanala District Municipality (Mogwase, Mokgalwaneng, Tlhabane, Rustenburg, Bleskop, Madikwe,Tlokweng,Ledig)	Rustenburg 0300 Mogwase Shopping Complex Kudu Road, 0314	12:00	Mogwase L M Mafora (014) 555 7890 – Rustenburg / Mogwase
	NWDC\ODI001\2015	Provision of Security Services at NWDC Properties within Odi/Garankuwa Area	Lucas Mangope Drive Garankuwa 0200	10th September 2015 12:00	D Ramasodi (012) 703 3371 - Garankuwa A Macpherson (012) 719 8670 - Garankuwa
	NWDC\MOR001\2015	Provision of Security Services at NWDC Properties within Moretele/Babelegi Area	1 st Street, Stand 14 Babelegi 0407	10th September 2015 12:00	D Ramasodi (012) 703 3371 - Babelegi A Macpherson (012) 719 8670 - Babelegi

	Tender Number	Description	Tenders obtainable from	Closing Date and Time	Enquiries
	NWDC\GAR002\2015	Erection of Wall Inside Factory- stand 17 Garankuwa	Lucas Mangope Drive Garankuwa 0200	10th September 2015 12:00	D Ramasodi (012) 703 3371 - Garankuwa A Macpherson (012) 719 8670 - Garankuwa
2	NWDC\BAB002\2015	Cutting of Tree and Grass Removal – Stand no 35 (5,6, 7,8)	1 st Street, Stand 14 Babelegi 0407	10th September 2015 12:00	D Ramasodi (012) 703 3371 - Babelegi A Macpherson (012) 719 8670 - Babelegi
	NWDC\BAB003\2015	Cutting of Tree and Grass Removal – Street 2, 3, 4, 813	1 st Street, Stand 14 Babelegi 0407	10th September 2015 12:00	D Ramasodi (012) 703 3371 - Babelegi A Macpherson (012) 719 8670 - Babelegi
	NWDC\BAB004\2015	Renovations, Repairs and Refurbishments – stand 63 Babelegi	1 st Street, Stand 14 Babelegi 0407	04th September 2015 12:00	D Ramasodi (012) 703 3371 - Babelegi A Macpherson (012) 719 8670 - Babelegi
3	NWDC\HO022\2015	Provision of Internal Audit Services for a period of 3 (Three) years	30 James Watt Crescent Industrial Sites, Mahikeng 2745	04th September 2015 12:00	P Rammutle (018) 381 3663 – Mahikeng B Mabale (018) 381 3663 – Mahikeng H Mashao (018) 381 3663 - Mahikeng
4	NWDC\HO023\2015	Request for proposal for Service Provider for Debt Collection of a Non Tracer Non Collection Fee – 2 (Two) Year Contract	30 James Watt Crescent Industrial Sites, Mahikeng 2745	10th September 2015 12:00	M Dikgole (018) 381 3663 – Mahikeng D Tsholetsane (018) 381 3663 – Mahikeng
5	NWDC\HO024\2015	Proposal for Appointment of a Transaction Advisor - SEZ (Specialised Economic Development Zone) Mahikeng Agro-Processing	30 James Watt Crescent Industrial Sites, Mahikeng 2745	10th September 2015 12:00	D Sadike (014) 594 2570 - Rustenburg
6	NWDC\H0025\2015	Request\Proposals for Performance Management Training Course (Accredited Facilitator)	30 James Watt Crescent Industrial Sites, Mahikeng 2745	10th September 2015 12:00	P Lenyatsa (018) 381 3663 - Mahikeng S Msinga (018) 381 3663 - Mahikeng

For bidding/tender documents please contact:

Neo Molokwane @ (014) 594 2570 or Betty Gordon @ (018) 381 3663 or Pule Rammutle @ (018) 381 3663

All documents marked with the relevant tender number and description thereof should be hand delivered or couriered as follows:

- Completed Tenders six copies i.e. One (1) Original and (5) copies must be sealed together
- Date: 10 September 2015 Time: 12:00
- Venue for all submission shall be one central place being :
- NWDC Regional Office, 30 James Watt Crescent, Industrial Site, Mahikeng
- No electronic, email or faxed Tender shall be accepted

NB:

- Please note that the previous security tender number NWDC/MMA003/2014 has been cancelled
- Should documents as outlined per annexure (A) per tender document not be attached, the tender will be considered invalid.
- All vendors are requested to register on the NWDC supplier database in order to conduct business with them.
- Vendor's forms are available on the NWDC website www.nwdc.co.za or can be collected at NWDC Head Office and all Regional Offices.